
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
87 × 35 =

8 7

3

5

2 2

4 3

4 5

4 1

0

3

0 5

2)
33 × 49 =

3 3

4

9

1 1

2 2

1 7

2 2

7

1

6 7

3)
27 × 85 =

2 7

8

5

1 5

1 3

9 5

6 6

0

2

2 5

4)
45 × 19 =

4 5

1

9

0 0

3 4

5 5

4 5

6

0

8 5

5)
48 × 65 =

4 8

6

5

2 4

2 4

2 0

4 8

0

3

1 0

6)
11 × 51 =

1 1

5

1

0 0

0 0

6 1

5 5

1

0

5 1

7)
89 × 29 =

8 9

2

9

1 1

7 8

8 1

6 8

2

2

5 1

8)
15 × 22 =

1 5

2

2

0 1

0 1

3 0

2 0

2

0

3 0

9)
43 × 94 =

4 3

9

4

3 2

1 1

4 2

6 7

6

4

0 2

10)
97 × 79 =

9 7

7

9

6 4

8 6

6 3

3 9

1

7

6 3

11)
21 × 31 =

2 1

3

1

0 0

0 0

5 1

6 3

2

0

6 1

12)
52 × 25 =

5 2

2

5

1 0

2 1

0 0

0 4

5

1

3 0

1. 3,045

2. 1,617

3. 2,295

4. 855

5. 3,120

6. 561

7. 2,581

8. 330

9. 4,042

10. 7,663

11. 651

12. 1,300

     

Use lattice multiplication to solve each problem.

Lattice 2 by 2
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